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ECONOMICS

( Honours Core )

Paper : ECO-HC-6026

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10

(a) Define sustainable development.

Tz Saged K |
{b) Define fertility rate.
Tl ZqS S Wl |
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(c

(@

(e)

(9)

(h)
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(m2)

Give one example of non-renewable
resource.

- TR 9By

What is migration?

A 1 5 2

Q%. ¥ Na%“d
Mention one key challenge of collective
decision-making in organizations.

TS T{T{% PR @ERE o 72
ﬁﬁﬂﬂqizﬁﬁﬁﬁ1|

Write one cause of gender inequality
in a family.
<1 AR oo feigar-rqmaa b1 319 fers |

What is the primary goal of micro-
finance institutions?

What is meant by land acquisition?

S ifterme e 0

( Continued )

(3)

: i
() In which year was the Rio Summi

held? |
R e @ 5o C2fRe ?

example of society
an p . g -a-

“"Q.Lbﬁ\ eriencing multiple social equilibri
o g3
et e | ;

i : 2x5=10
2. Answer the following questions

o eppTyRd Bed fidl :

opping-
(a) Write two advantages of sharecropp

Carrr - Pred o1 AT o |

() What is gender bias?
forer speenfoR 32

Mention any two problems associated
(c) en

with land.
S SCEd
gﬁﬁaﬁr@ﬂ%{@ﬁﬁm’iﬁ‘
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(4)

(d) What is the role of transparency and
accountability 1n good governance?

TP o0l S THTmeN S 2

(e) What is environmental external

Wﬁm‘l’f@wﬁ?

S PR R I BiRER Ty fia -

fa) Discuss how i
; income affect ili
decisions. s fertility

S 2o Prae @ g ¢
e iR I
SICETBT 641 | Gt

(b) Briefly d_iscuss the functioning of labour
market in agrarian society.

AR e W W e o
SATCATBAT 47 |

(¢) Explain the main objectives of land
reform.

gﬁ"wwmwﬁ.

5x4=20

( Continued )

(d)

(e)

4. Answer any four of the following questions :

o

(a)

A25/555

community governance and corporate

governance.

e MPT S T <P W A oY
SCAToAT 1 |

Explain the relationship between
economic activity and climate change.

Seffes I SF TR RIS TS A
S SICEoAl 0 |

Discuss the causes of financial
instability in a globalized world.

SICEEA] 1 |

10x4=40
eppTRd Gl wifR6E T i
a common-pool resource?

how the 4ragedy of the
ce depletion.
2+8=10

<5l m@_@mﬁwﬁ? SRS e
Roptcr (RCTEd T S T, e

401

What is

Discuss
commons’ explains resour
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(6)

(b) Critically discuss the demographic
transition theory of population. 10

PRI TPRITS T4 G S5
HRFICI ST 47 |

Discuss the main  informational
problems in ryral credit markets,
7 How do they affect borrowers and
7 Fldnders? 6+4=10

-ﬁwme&rﬁﬁw%%,
Wnimﬁmwwwww

(d) Explain the inter-linkages between rural
factor markets in developing countries. 10

T AT ATy Bere IWEI  T’{
SGSIAICA T F47 |

(e) Explain the main contributions of
agriculture in the process of economic
development. 10

AT T aferre s T Pz
961 F91 |

() Explain the factors that influence
individual behaviour in an organization. 10

GBI S et W53 2/e1Re 7 TAPPR
IR 30
A25/555 ; ( Continued )

(g) . s 4
market in rural econ
|
o1y SIS A IERT PR TR
jecti of
' i the key objectives
Discuss :
e m]ultilateral trade agreements. How ;o4=10
they impact global trade?
5
ot A e T owmaER O,
2
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Explain the functioning of the credi




